LB 5: Ableitung weiterer Funktionen - Lésungen

1) f(x)=(x®=1)-cosx > u(x)=x?-1und v(x)=cosx > u'(x)=2x und v'(x) =—-sinx

> f'(x) =2xcos X + (x% —1)(-sinx) = 2xcos X + (1-x*)sinx

2) f(x)=(e*+1)sinx > u(x)=e*+1und v(x)=sinx = u'(x)=¢e* und v'(x) =cosx
f

> f'(x)=e*sinx+(e* +1)cos x

3) f(x)=eV3x > u(x)=e™ und v(x)=+3x > u'(x)=—e und V'(x)=

24/3x
3  e*(-6x+3) 3e¥(2x+1)

x| 2l 2x

> f'(x)=-eV3x +e*

5 5
4) f(x)=— —5x"45.(2x+1)"
) 1) ox ox41 2% T (@x+1)
, 5 10
> f(X)=—-—%-

2x2  (2x+1)?

5) f(x)= 4;2“:’)( > u(x)=4cosx und v(x)=3e* > u'(x)=-4sinx und v'(x) =3e*
- Xsinx — X 4(sinx 4+ cos x
> f(x)= 12e* sinx 212e cosx _ _ ( i )
9e~* 3e
X —sinx . , ,
6) f(x)= 1 2 u(x)=x-sinx und v(x)=x+1 2> U'(x)=1-cosx und v'(x) =1
X+
- — (X —si 1—-XC0S X —COS X +Sinx
> f(x)= (1-cos x)(x+1)2 (x—sinx) _ :
(x+1) (x+1)
7) f(x):@"g‘ﬂ > u(x) = (3-x)sinx und v(x)=3x? > U'(x) = —sinx+(3-x)cosx und V'(x) = 6x
X
9
, (-sinx+(3-x)cosx)-3x2 —(3—x)sinx-6x  3x(xsinx+3xcosx —x2cosx —6sinx)
f'(x) = 7 = 7
9x 9x
_ xsinx+3xcos x — x cos x ~6sinx

3x3

8) f(x)=—2sinvx > i(x)=+x und a(i(x))=—2sinVx > i(x)=—— und a'(i(x)) = — 2 cos v/x

24X
3cosvx
fl(x)= -2 N2
> 1 8vx

9) f(x)=—-cos(x+1)-sin(1-x%) > u(x)=-cos(x+1) und v(x) =sin(1-x?)

> u'(x)=sin(x+1) und v'(x) = -2xcos(1-x?)
> f'(x) =sin(x +1)-sin(1—x?) + 2x cos(x + 1) - cos(1 - x?)

10) 1)="°" 3 yx=x-e und v(x)=3-+x

S ux)=e® +x(-2)e* =e®*(1-2x) und V'

1
Y~

_ox —2x 1
e (1-2x)(3-Vx)-x-e (_2\/;} 62 (6v/x — 2x —12x/X +4x?)

2> f'(x)= e = VX (3 —Jx)?
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